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Which answer is the same expression as this

(4y —5)°

a 40y —40y + 25 b 25,2—40y-25
2542 + 40y — 25 d 404240y + 16
€ 254240y + 40 f o a0y2-40y-25

Which answer is the same expression as this

(6r —3)°

a 9r2 4+ 36r — 9 b 36:2-36r+09

36r2 — 361 + 36 d 9r2 — 36r — 9
e 3672 — 367 — 9 f 9r2 — 367 + 36
6

Which answer is the same
expression as this

2
(6n —9)
n° — n —+ n° — n—
308n2 — 108n + 81 P81n2 — 108n — 81

90812 — 1087 + 36 40812 — 108n — 81
®81n2 + 108n — 81 B1n? - 108n + 108
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(22— 7)7

a 4022 4+ 28z — 49 b 4942-282+28
C  28z2-28z—49 d  28:2-282+4
€  28z%- 28z + 49 f o 402228249
3

Which answer is the same
expression as this

(Tn — 8)2
¥4n2—112n + 112 %4n? + 1121 — 64

91202 —112n + 49 912102 — 112n + 64
®6an2 — 112n — 64 112n% - 1121 — 64

Which answer is the same expression as this

(3z — 3)7

a  9z2-18z+18 b 18:2-18z+9
c 1822 — 182 —9 d 1842+ 182 +18
e 92% — 182 — 9 f 922 + 182 -9

Which answer is the same expression as this

(9y —5)°

a  90y2—90y + 25 b 25421 90y-25
90y2 — 90y — 25 d  90y2-90y + 81
€  2542—90y + 90 f 2542—00y-25
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